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DR AT T B 150mL 4,950/ (#52) 5,170M (&)
=122 B 4 AP 125 4,400/ (#2) 4,620M (#2)
FAD HF FoA AT LS540 Ji— A 125mL 4,950 (#252) 5,170 (#:2)
SO T AT DL J—1 30mL 1,650 (#&i2) 1,760 (g:2)
FALH T A QLS00 5 Fr 3=l 125ml 4,950/ (#52) 5,170M (&)
FARH =4 A3 200 K= F =)l 30mlL 1,650/ (#52) 1,760 (#5A)
FA0 H Fo AT LT AL 200mL 4,950 (#232) 5,170 (#2)
PRERRY
FAY T4 A2 F=—vi Lh—Z 125mL 4,950 (#2) 5,170M (#52)
Fex—2wll—F w4l 150y 4,180 (#) 4,400M (#2)
Fx—=DEll—2b ) — 24 et —= 3 5150 4,180 (#52) 4,400 (#r)
v Ze—Sawil =T YU — R T30 5 200ml 4,950M (#52) 5,170 (#)
b < D x el L1 200mL 4,950 (#2) 5,170M (#2)
FA—20 =Sl - 150mL 4,950/ (#52) 5,170M (&)
2inl >4 —F LA Six))— 150mL 5,500 (#i) 5,720 (#2)
Flewia FL-Z - C NS — HL-2-H—0.5g x 285 5,720/ (#52) 5,940 (#52)
FPOF TA—I L2240 125mL 4,950 (#ik) 5,500 (#2)
Fis i
T ey TR D i U ik, S P — 205 100m: 4,400 (#5:2) 4,620 (#r)
B 7K
EAAFy— =3 I\ Fi O — S 30 0mil 4,400 (#:2) 4,620 (#)
EAAF v -2 1 FE =5 20 hmL 6,710 (#52) 7,040 (#2)
A —F e RB— T I TwE-A O—33Z 175mL 7,370M (#2) 7,700 (#A)
EEW
EAAFY— - NAFL—Fo24F 22— 48mL 8,690 (#52) 9,020 (&)
B="0P S i AR 30mL 6,600 (#ik) 6,820M (#i2)
F= e P AT T b AR S0miL 9,900 (#ik) 10,230 (#:k)
AN— VU 3 A 30mL 10,450/ (#:A) 11,000 (#®ir)
AN—PF URTF 254 50mL 15,950/ (#:k) 16,7208 (#id)
Pleni T LA CH S U A0 8 5ml x 24 13,420/ (#:2) 14,300/ (#i2)
B
FEYFshHU—-F4 7L BAIAFVYIA20 O0-332 F5 50mL 5,500 (#52) 5,830M (#:)
FSRFAV— F1IFPL b BAAFPSATD 0532 F5A4 125mL 8,800/ (#52) 9,240 (#2)
T AU —aa 2FLiE ALY — ZFx)l- 50mL 5,500 (#52) 5,830M (#2)
FS¥srhU— T I7L2 b AT FU— Szl 125mL 8,800 (#52) 9,240 (#2)
FemEa A= Eebsh Ve Bl Sa U= 50l 5,500M (#:2) 5,830 (i)
Sl s L e i s w o S Pt e e S b 8,800 (#i2) 9,240/ (%)
A= = A3 — Zh =23 10 8,800 (#52) 9,020M (#2)
P4 A—ILA—N— 2UuFUT FU—bA - a 50mL 4,950 (#52) 5,280 (#d)
T — i
A FUsTL — S0L 13,200 (82) 13,420/ (#i2)
AN B e A — I S0 mL 13,200/ (#t2) 13,420/ (#2)
FPATF
EBA RFr— =295 74 Q% Flo—-15mlL 5.720M (#:2) 6,050M (#ir)
A= I3~ 74 15mL 5,720 (#52) 6,050 (#i2)
A0 Dy ea F o SmL 5,500 (#52) 5,720M (#52)
S T S
EAAFYy— U2 N FO FSF UnF FU—~kt> - 10mL 3,300f9 (2} 3,520F (#d)
e L T o o B I et ] T S 5,170 (#52) 5,500M (#52)
ARV ILTT
EAAFr— U= Ad=N—0+ I €A% 100mL 6,490 (#) 6,600 (#i2)
EARAFrv— H—3 I~ ZFL-— 125mL 5,280M (&2 5,500 (#2)
A—TF2 RE— H—0 Ry b Fr 7 A 50 30mL 6,270/ (#iA) 6,600/ (Ri)
FLIFE ZUFIAT 1)l 15mL 3,960 (#i2) 4,400 (#2)
T 2T 1)l 30mL 6,820 (&) 7,150 (#2)
P4 W= 7A RS FO=ILA>- N 75mL 4,180M (#52) 4,620 (#A)
SPF50 72— 47lJ—/ 50mL 5,610M (#:2) 6,050/ (B:2)
sl et d = B ) EETHIL 3,300 (#52) 3,630M (#2)
F 2k T A — i B — 32 - Dimill: 7,700 (#52) 8,580M (#ir)
S e —
y: G o e it el T R Lo B oY o a1 4,400 (#2) 4,620M (#2)
A2 FHEEIN =1 —
A d e | Yl F o 30mil 4,950 (#ir) 5,170 (#&2)
B (0 e e
A= bl 15 L 6,380 (#52) 6,710 (#2)
A= e BB U ek e SU=—lF 0w F 30l 6,050 (#52) 5,380M (#2)
A =F 0 8= O — A= Py T 14— C=x—). 27 N 10g 6,270 (&) 6,600 (#id)
ANt o T ¥ ) S e AT 1,320 (#52) 1,650M (#52)
57t o e 17 1 % 7 o i B ) R 1,320 (#52) 1,650 (&)
eyt —
A7 ¥w b 27— FLA B )NS5 — 7.6g 7,150M (&2 7,700/ (#52)
L3k
FENFhAU— a7 U TAF w47 3g 4,620 (#:2) 4,840 (#:2)
A S O L R K e BT 4,400 (#2) 4,620M (#2)
DA D=1 F— T#4—Uw T N0.26g 3,410 (&) 3,630 (®A)
FrE— AFov I EAAFVvYSAI40 UwF hS5— JI—A 3g 4,180 (#&2) 4,400/ (H:2)
shar F UsnF To5w3a 3.4mL 4,400/ (#:2) 4,620 (#:2)
A=NAFE AU T AT 942199 4,070 (#2) 4,730M (#2)
o ke
A= F 2 B I — a0 3,300M (#52) 3,520 )
AR e T e 20y 3,300 (#2) 3,520/ (&2
A= FHOE I FaA 220 4,950 (#52) 5,280M (#2)
A—IL FHOP 2v P 0w |- 4.89 7,150 (#5) 7,700 (#&2)
A A YFe P P4 3-00— DT 3,740M (#2) 4,070 (#:2)
D= F4— 4o A M5 3,300 (#2) 3,630/ (#:2)
) —is Sea g FA—=FH 125 3,300 (#52) 3,630M (#2)
Sp b TO=0 Fowiea AT RBP4 AT I—2-I9mb 3,300 (&) 3,630 (#d)
P O SV oy U . St B T3 5,720M (#52) 6,050 (#A)
P03 4w 51 F— 0.06g 3,740M (#i2) 4,070 (#2)
N A2 N0 FA 2w R A1 24 1.99 4,950 (#m) 5,280M (#2)
TANZ
), e o S0 L G Sl 0 o ) W Moo B = oA L B, e W 1 4,400M (#2) 4,730M (#:2)
4 o OO L G bl £ ot e b e Bl 4,400/ (#52) 4,730 (8R)
Rbh Zwia IAHZ emL 2,970 (#52) 3,300M (#52)
Zwa BT 0 T4~ — 4.8mL 3,850 (#ia) 4,180 (#:d)
S e
IS A TS5w3a 69 4,510/ (#52) 4,950 (#R)
FebE-AFaef 2T 1227 3 Fa=ll 6y 4,950 (%2 5,170 (&)
F—Li sk F 3 5g 4,180 (#i2) 4,400 (#ir)
A=y,
M e 5,940/ (#52) 6,490 (#:2)
e L e B 6,820/ (#ia) 7,480M (&)
P i b e e e 5,610 (#®ik) 6,160 (#®iA)
7oA SxAHF— I3 4,510 (#®id) 4,950 (H52)
L 75 i S B 3,740/ (#52) 4,180 (#:2)
O e e L 3,630 (®ik) 4,070M (#2)
Pl B o P B e 3,520 (#i) 3,960 (#&2)
b it i Corl D Lo T 5,280M (#2) 5,830 (®A)
oI 5 i Y L 5,280 (#i2) 5,830 (&)
AP ¥ Fote Dl 736mL 3,300 (#52) 3,630M (#2)
A
FE—Z % v I 200mL 5,280M (#2) 5,720 (#®A)
B Oy weeni I S =0 SNl 5,280 (#2) 5. 720/ (#:2)
FE Al Fm 4 Cig = 0. ZPDmL 5,940 (#®ik) 6,270M (#2)
Pl e 2 JL-135mlL 4,400 (i) 4,950M (#i2)
L= iy a0l 4,400H (#52) 4,950 (#A)
AT = A — F5miL 4,400/ (#:2) 4,950 (#:2)
TOATAVT—Fr 40 w4 200mL 5,170/ (#5) 5,610M (&)
A 2 bO—IL TR TAVI—F« 24 b=v4 200mL 5,170/ (#) 5,610 (#d)
13—l — By X e~ [B—337 208mL 8,360M (&4 9,130 (#r)
X MR8 — a )l A R Eml 10,010 (#t:2) 11,000/ (#52)
AG £ AF v Z-tf— 100mL 8,800 (#2) 9,680M (#A)
EAAFYSII4 O—32 100mL 7,150M (&2 7,700/ (#2)
AN — B v i — 1D0mL 7,150 (#52) 7,700 (#2)
SPF21 £ AF ¥ Z-F— 100mL 7, 700M (#52) 8,360 (#d)
MY T ElL—2— 72 50mL 8,910M (&) 9,790 (#A)
SE 77-f ZxJL 15mL 6,050 (&2 6,600/ (Hid)
AG P L — a5ml 6,050 (#52) 6,600 (#r)
Lt e L T | b il i e o B | g5 L B 4,180 (#:2) 4,620 (#:2)
o P L
= ol — 30ml: 7,150 (#5) 7,700 (#&2)
L2 =43 I = = SamL 9,350M (#2) 9,900M (#r)
e el S 10 ol ol 1 11 9,350 (#i2) 9,900/ (#:2)
= e =abhe 2= 200mlL 6,600 (#ik) 7.260M (#2)
S Dol =Sl o, A Ze 2 D0mIL 6,600 (#5) 7,260 (#®2)
)=l Ty e osh = sl S 9,350M (#2) 9,900M (#r)
PNy —dF W — IRk P AT DR 0, el 6,050 (#i2) 6,600 (#:2)
-1 MNvE= EA—= ES—w7 15mL 4,950 (#52) 5,500M (#52)
el ok = Wt )— 4 F 3F E—F-i5mi 4,950 (#52) 5,500 (#A)
¥ N\vE—- 137 & B3 EF 15mL 4,950 (#52) 5,500/ (#A)
1A~ A gt S AF 15mL 4,950 (#5:2) 5,500/ (#:2)
wot sl e 0 Ismk 4,950 (#52) 5,500M (#52)
~1 NwE— $w»d— &+ 15mL 4,950 (#iA) 5,500 (#&2)
R
BRBIASIT v (A— bk URF £33 4L) 15,950/ (&) 16,720 (&)
BABIASO5F Ly b (AX—F UATF ZU—-N) 13,200/ (#t2) 13,420/ (#i2)
BABTAIIIF vy b (Av— b URF FPyT JU—H4) 13,200/ (#32) 13,420 (#ik)
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